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Mr. Schlansky Geometry

Intersecting Medians (Centroid Problems)
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1. Inthe given triangle, all three medians are drawn in. If AG= 10, find

a)@ﬁ/

b) 4D |§~

2. Inthe given triangle, all three medians are drawn in. If FG= 4, find
a) CG %
b) CF |-

3. Inthe given triangle, all three medians are drawn in. If AD =24, find

) AG | I¢Hy=2d
b) DG =
) 294 =3
=S¢ -
4. Inthe given triangle, all three medians are drawn in. If AC = 30, find
a) AB [
b) BC 1S

5. Inthe given triangle, all three medians are drawn in. If MS= 12, find
a) SK
b) MK |§

6. Inthe given triangle, all three medians are drawn in. If OE= 9, find

0 05 3 Q=g
b) SE =

) Sl e

=3
7. Inthe given triangle, all three medians are drawn in. If YN= 30, find
a) YS [O 30 N
b) SN O INIYEL %
- M
%’(%O Y E

X:[O 32



8. In the diagram below of /A ABC, medians E, ﬁ', and CF intersect at G. If CF = 24, what is the

length of FG? |
A Hy=ad

E E gﬁ;ﬁ
= 3
B D o K= @'

9. Inthe diagram below of /A TZAf, medians ZTB, E_(f*, and M4 intersect at D, and T8 = 9. Find the

gt 1 Qb Fp )

3x=9
3 3

=3

10. In triangle SRK below, medians sC , KE , and RL intersect at M. 2
Which statement must atways be true? E
G AMC) = 5C Mt
2 1

) wo= Ly X
3) RM=2MC i S

4) W=m><

11. In AX¥Z, shown below, medians ﬁ, fﬁ', and ZD intersect at C. If C& = 5, ¥F=21, and
XZ = 15, determine and state the perimeter of triangle CF.X.

=2\

2. -~
>x =)

33



